
 Lesson 37 Problem Set K•4 

Solve. 

2 + 0 =    2 – 0 =     4 – 0 = 3 + 0 = 

Stella had 4 pennies.  She found 3 more pennies.  How many pennies does 
Stella have now? 

Stella gave the 3 pennies to her dad.  How many pennies does she have 
now? 

Marissa made 8 bracelets.  She loved them so much she did not give any 
away.  How many bracelets does Marissa have now? 

Jackson found 6 toys under his bed.  He looked and did not find any more 
toys.  How many toys does Jackson have now? 

= + 

1 2 3 4 5 6 7 8 9 10 

= – 

= + 

= – 

Module 4  •  Page 208


